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S 5 4 5 5 2 5 2 4
:, +{1J(3 )(7106){2}(3 ke +(3J(3 k) .

=243—A05kx + 270k x* =90/ + ..

3(270k2) + 4(—405k) = 0
810k? — 1620k =10
kK2=2k=0

k(k—2)=0

k = 0(rej)

k=2

tan(45° +60°)

_ tan45+tan60
" 1—tan45tan 60
71+\/§ 1+J§
717\/§x1+\/§
12343
T P-3

e

1 g

Uhjzlicatio

A-12k+9k" -4k < 0
Sk 12k +4<0
(Sk=2(k—2)< 0

g<.?f:<2
5

1 fa]3x-2) 11
b | Since (x —2)% = 0,
Therefore, 3(x — 2)% — 11 > —11
Therefore, min value of y = —11
Or
Min value occurs at 3(x — 2)? =0
Therefore, y = —11
2 [a| f(3)=2(3)+ p(3)' —93)+¢
54+9p—27+g=0
9p+q=-17 4l Cibgatodfi
F(-1)=2(-1 + p(-1)* =9(-D +¢
2+p+9+g=20
ptq=13 aif secoly
1
p+(—9p-27)=13
—8p=40 fryuating-o
p:75 St e
g=18 |
b | (x-3)2x"+x-6)=0 v LS,
{(x—3)(2x—3)(x+2)=0 Y
x:3,§,72
3 (2=3k) 4" )< 0

32’ +4x—5 A B S
= + +
(x+D*2x-1) (x+]) (@D 2x-1
3t +dx—5=Alx+D(2x =)+ B2x =1+ Clx+1)
x=—]

B=2

>

a=15
e

3x 4y -5 2 2 1

D 2—T) B R ) 221
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COSH—ZsinBCOSB

sin @

_cos&—2sin’ Goos
B siné@

_ cos&(1-2sin’ §)

a singd

_999 4 _ssin’e)

siné
=cotfcos 28

3cotHcos 26 =cos 26
cos26(3cotd-1)=0

cos28=10

@ =

4 T
= +A2r+ =2+ +—

3

po |y 0N
q ooy

S5n In
474

3:5)3
4

= |

cotB:l
3

tan& =3
o, =1.2490
8=1.25,439

tanAzfi
3

coseeB = L = >
sinB 5

sin(4 + B)

cos(90 - Ay =sind= 7§

BSS/23 EQY Examy3E Amath P1

www. KiasuEExamPaper.com

97

[Turn over

24

9 |a]2¥-2"=2"4+6

degree celsius.

W= 2"
u —u=4u+6 M1 | Substitution of u
u'—5u—6=0
(u=0)u+1)=0 M1 | factorisation
piad o)
x= lg_6 =258 Al
g2
27 =—1{ref) Al
b Tl bt log; o, M1 Change of base of one
3
L
log, x+log, y* =log, 2
T
log, xy? =log, 2
i M1 | Produet law
xya =2
P Al
¥
10 (a | —10=30—de™®
—10=30-A() i
A=40
b | 23.4=30—40e 7" M1
£ 234-30
—40
. | 23.4-30
—40
E=003 Al K =0.0300 (3s)
¢ | 20 =30 -dge "M M1
efEI 030038 = 025 1\’11
#=46.2min Al
d | As ¢ tends to infinity,
e tends to 0
402" tends to 0
And hence the temperature of the meat will approach30 A
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11

©0.-2)

26

Gl'adBc = 7i
3

y72:7§(x712)
Eqnec:
=——x+18
+ 3

Sub into Eqnas
4[—%3&%—18} =3x-8

—%x+72: 3x—8

2x:80
3

x=816,y=52
B(9.6,52)

110 6 12200
2=2 =8 4@ =2

:%[(12724)7(796712)] = 48 units®
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12 | a | Midpoint PQ:
1+5 —6+2
2" 8 B1B1

=(3.-2

b\ armapg- 22 M1

|
Grad PQ (Perpendicular bisector) = —% M1
1
GrD=—2(-3)
Equation:
e Al
=g

¢ | Centre:

11 g M1 Equating (a) ans and line
2 = g % passing through centre
X 75
y=-3
€(5,-3) M1
Radius =5 M1
Eqnofcircle: (x —=5)%2 + (¥ + 3)* = 25 Al
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13 | a [ Annex A

1 2 3 4 5 6

-

14 25 22 26 30 34.2

e

Bl axis labelled correctly
B1 points plotted correctly
Bl line of best fit passing through points execept incorrect point.

b | y =50 incorrect, M1
correct value: y =36 Al
c | y=pxix+k)
% =px+hp Bl
p : gradient
:387_&:3.92&0.1) B1
y-intercept: kp
k=104
k= 104 _ 2.65 B1
392
14 | a | Amplitude: 3 B1
Period: 72¢° B1
b | Maximum: 2 B1
Minimum: 0 B1
¢ ¥ B1 | Shape of sine
curve
B1 | Shape of cosine
curve
B1 | Critical points of
sine curve

B1 | Critical points of
cosine curve

2+
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